ANSWERS - VOLUME 1: EQUILIBRIUM
Chapter 5, Calculating Support Reactions and Interaction Forces

problem 5.18, page 196

Remarks:  See 85.3, page 168 till 172

Answers: All forces in KN
Only the size of the interaction forces in S is given.

1 A=3(>); A=4(T); B=3(«); B, =8(T)
Sh=3; SV:4

2. A=A =0;B,=6(«); B, =12(T)
S, =6;S,=0

3. A,=3(«); A,=10(T); B,=9(<«); B, =14(T)
Sh:6; SV:2

4. A,=9(—); A =18(T); B,=9(<«); B,=6(T)
S, =9:5,=6

5. A,=6(—); A =16 (); B,=6(<); B, =0
Sh:6; SV:0

. A =3(«); A=2(1); B =5(«); B, =2(T)

Sh =3, SV:2

. A =30(<«); A, =10 (4); B,=10(<«); B, =10(T)

S, =10; S, =10

. A=30(—); A,=30(T); B,=30(<«); B, =50(T)

S, =30; S, =30

. A,=35(«); A =30 (1) B,=25(«); B, =30 (1)

S, =5; S, =30
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